SURAJMAL MEMORIAL EDUCATION SOCIETY C-4, JANAKPURI, NEW DELHI – 110 058 011-25552667/25528117

NOTICE INVITING SEALED QUOTATION

Pharmacy Equipments and Apparatus for immediate sale. List of items available at www.msit.in Inspection/quotation in sealed cover from Monday to Saturday between 12.00 noon to 3.00 p.m. upto 3.6.2017

Secretary

S.No	APPARATUS/ EQUIPMENT	Quantity	Rate	Amount	Year of Furchase	hase
-	ARSENIC LIMIT TEST APPARATUS	13	157	2041		
2	ATOMIC MODEL SET	c	Ser 8, 2200	0099		1995
3	ANDERSON PIPPETE	2	550	1160		2001
4	AUTOMATIC STABLIZER	1	7 (386	386		
5	BL/NDER(MIXI)		856	856		1985
9	BAKRANGER BALANCE WITH WEIGHTS	I	175	175		1985
7 .	CORK BORER SET		240	240		1985
∞	CONICAL PERCOLATIOR(S/S)	20	266.5	5330		1994
6	PHOTO ELECTRIC COLOURIMETER	2	5368	10736		2006
10	DISPENSING BALANCE	5	009	3000		1994
11	GRANULATING SIEVES	20	54	1080		1985
12	HOT WATER FUNNEL(S/S)	2	170	340		1984
13	HEATING MENTLE	2	009	1200		2007
+-	HEAMOGLOBINOMETER	255	200	17500		
15	MAGNETIC STIRRER	4	4312	17248		
16	APPARATUS (MS) 44 declarm mation)	1	1350	1350	-	2001
17	PHYSICAL WEIGHING BOX	. 01	135	1350		2006
18	SFATULLA4 4"(EBONITE)	42	1.5	63		1989
19	SPATULA BOTH END FLAT(S/S)	4	2.5	10		1989
20	SAND BATH METAL	6	4.5	40.5		1983
	SIEVE DIFFERENT MASH WITH PLATE AND	74				
21	TID		250	18500		2007
22	SPATULA OINTMENT WITH HANDLE	3	28	84		2005
23	SPATULA WITH SPOON	43	B	387 -38	in the second	2006
č	MECHANICAL STIRRER/MECHANICAL	w	THE	1		3008
77	SIIKKEK	-	本がはい	であれば	1	

· Sygu



(1	

TYPE)		2149	2149	
PREPARED SLIDE 3" * 1"	47	40	1880	2007
LOVI BOND COLOUR COMPERATOR	-	2000	2000	2002
LIPSTIC MOULD(6HOLES)	5	375	1875	
BOTTLE SEALING MACHINE	-	5750	5750	
PROMEABILITY CUPS	S	845	4225	
LIPSTICK MOULD(6HOLES)	5	950	4750	
	5	1900	9500	000
MAGNETIC STIRRER WITH HOT PLATE	9	1900	11400	100
DIGITAL GLUCOMETER	3	1300	3900	
MICROPIPETTE	2	1700	3400	2010
FIRE EXTINGUISHER	4	Transcourabilita de Paris.	0	
BURETTE STAND METAL HEAVY	10	200	2000	2012
BOSS HEAD	5	10	50	2006
CONDENSER CLAMP	. 5	95	475	2012
CLAY PIPE TRIANGLE	24	4	96	2004
GOOCH CRUCIBLE	10	80	800	2001
SILICA CRUCIBLE	0 ×	45	(D_K)	
Y-CONNECTOR	34 ·	3	102	2004
FUNNEL HOLDER RINGS	37	29	1073	2006
IMPERICAL WEIGHT (BRASS)	2	19	38	5361
LOOP HOLDER	19	. 25	475	2006
SPIRIT LAMP	44	4	176	. 1983
TRIPOD STAND	59	N S (451)	9655-26609	2002
TEST TUBE HOLDER	26	9	156	2012
WATER BATH(COPPER)	15	350	5250	2001
WASH BOTTLE	27	3	81	1985
TEST TUBE STAND(AL)24 HOLES		48	48	2006
Hot Plate	-	2300	2300	2006
Loop holder	10	25	250	2006
Melting point apparatus	4	1500	6 500 0	

-	Test tube holder	48	9	288	2012
57	Tripod stand	0	45	0	
58	Test tube stand plastic	11		121	2005
59	Wash bottle	6	3	27	1985
09	Water bath with ring(copper)	18	350	6300	2011
61	Balance analytical/chaenomatics	8	1016	8128	1983
62	Pipette stand plastic	2	160	320	2004
63	Hot air oven	1	18030	18030	2004
64	Distillation plant	1	2500	2500	2007
65	Aspirator bottle	1	450	450	2004
99	Infrared lamp	-	375	375	
. 19	Heating mentle	2	009	1200	2007
89	Water bath electric	_	2190	2190	2007
69	Arsenic app	11	157	1727	
70	Periodic table chart	1	175	175	1994
71	Test tube stand metal	. 2	48	96	2006
72	Analytical Weight box	6	290	5310	2006
73	Boss head	33	10	330	2006
74	Burette Stand	30	200	0009	2012
75.	Burette Clamp	7	40	280	2006
9/	Condenser Clamp	12	95	1140	2012
17	Colorimeter	10	110	1100	2004
78	Funnel Ring's	19	27	513	
62	Bunsen Burner	33	19	627	1661
80	Oil Bath	4	0069	27600	2002
81	Melting Point App.	7	1500	10,500	
82	Stop Watch	10	086	0086	2005
83	Screw Clip	30	28	840	2007
84	Water Bath(Electronic)	2	2190	4380	2007
85	Hot Plate	1	2300	2300	2006
98	Balance Analytical	2	1300	2600	1994
87	Pipette Stand Plastic	2	160	320	2004
88	Digital Oven	_	180101	0	

ricaling Mainic		5	000	
Vacuum Pump	1	5415	5415	
Magnetic Stirrer	9	4312	25872 0	1106
Sand Bath	6	4.5	40.5	1983
I.R Lamp	5	325	1625	201
Tripod Stand	20	45	006	2012
Spatula Spoon	4	6	36	2006
Sterio Model Box	16	2200	35200	2005
Water Bath(Copper)	13	350	4550	2011
Steel Container(For Ice)	2	Application of the Park of the	0	and the second s
Burette stand	17	200	3400	2012
Magnetic stirrer	4	19:00	0-1009 t	otar
pH Meter	0	description of an interest constraint of the con	The second section is the second section of the second section of the second section of the second section of the second section sec	The state of the s
Hot Air Oven	0		A property of the contract and the contr	
Polarimeter	_	8900	0068	2007
Analytical Weighing Balance	. 2	1780	3560	2007
Distillation Assembly	0	5	O **	
Electronic Balance	0	Management congruenting years of the child III July in comme	O	
water purifier + prefilteration kit	2		0	
Ion Exchanger	. 1	12000	12000	30/0
Analytical Weight box	10	590	5900	2004
Water bath (Copper)	5	350	1750	2011
Dispensing Balance	_		1994	
Hot plate	_	2300	2300	2006
Test stand round (Plastic)	_	54	54	2004
Pipette stand Horizental(P)	2	40	08	2004
Pipette stand vertical (P)	9	160	096	2004
ANALYTICALBALANCE(VERBAL)	-	1780	1780	2007
AUTOCLAVE	3	3800	11400	2004
ANALYTICAL WEIGHT BOX	1	590	590	2004
AUTO PIPETTE	_	4500	4500	
B.O.D. INCUBATOR	-	38650	38650	2004
CAMEDA LITCIDA (DDICM TVDE)	23	820	10067	2000

	2002	2001	2001				2006		1994	2002	2002	2004	2007	2005		2006	1985		1995	1985	- Barrell	10	2006	1994	2002	1984	2006	2006	2012	2006	
10420	13300	3285	375	0	0	0	009	64400	17250	8900	7225	11700	200	2800	0009	3250	110.5	0006	1320	386	O the second of	. 0.7% S. 1	135	009	2500	400	61	162	950	100	70011
521	350	657	75	20	301	15	50	2800	069	4450	7225	11700	700	2800	009	130	6.5	009	099	386	054-9-	C-9	135	009	2500	400	19	6	95	01	700
20	38	5	5	32	31	48	12	23	25	2	1	1	1	1	10	25	17.	15	2	1	1	-	1	1	1	1	-	18	10	10	0,
CAMERA LUCIDA(MIRROR TYPE)	EYE PIECE MICROMETER	EYE PIECE WITH POINTER(10*5)	EYE PIECE WITH POINTER(15*5)	PLASTIC JAR, 1.0KG	PLASTIC JAR, 2.5KG	PLASTIC JAR, 1/2KG	SLIGHT JAR	MICROSCOPE STUDENT(MONOCULAR)	MICROSCOPE(DISSECTING)	BINOCULAR MICROSCOPE	MICROTOME SPENSER TYPE	MECHANICAL FLASK SHAKER	STAGE MICROMETER	T.L.C. KIT WITH JAR	VOLATILE OIL DISTILLATION APPARATUS	SLIGHT JAR	URINE GLASS (GRADUATED)	HEATING MANTLE	PRESSURE COOKER	BLENDER/MIXER	MAMJASTA	HOT AIR OVEN	PHYSICAL WEIGHT BOX	DISPENSING BALANCE	U.V.CABINET(DOUBLE TUBE)	CHEMICAL BALANCE	STERLITY TEST APPARATUS	SPATULA SPOON	CONDENSOR CLAMP	BOSS HEAD	TOTAL OFFICE
122	123	124	125	126	127	128	129	130	131	132	133	134	135	136	137	138	139	140	141	142	143	144	145	146	147	148	149	150	151	152	160

(#

-	
(N	2)
0	

1983	1983		1994	2006	1995	1995	1983	1989	2007			2007	Name and the second of the sec	2005	2012	2005	2004			1994	2004	2005	2002	2005	2006	2011		2004	1987	1994	2007	2008
460	35	0	13800	52500	100	. 08	32	16	1720	28000	4275	7150	0 111	2940	180	209	2160	4400	0	13200	920	4900	1080	242	1215	5250	17400	915	10 Let 1 -0	0009	3560	5415
230	35		069	7500	20	40	91	8	40	28000	475	550	Manuscript community	086	9	11	180	400	The designation of the second	009	40	086	45	111	135	350	300	173	itsty.	0009	1780	5415
2	_	51	20	7	5	. 2	2	2	43	-	6	13		3	30	19	12 ,	=	0	22	23	5	24	22	6	15	58	3		_	2	
Lucas moist chamber	Myograph lever (Inco)	Model & Skelton	Student microscope	Microscope Immersion	Reetal Thermometer	Room thermometer	Simple Electrode(Inco)	Slide box wooden	Prepared Slide	Spirometer	B.P.App	Stethoscope	Skelton (Human)	Stop Watch	Test Tube Holder	Test Tube Stand Plastic	Wintrobe tube stand	Haemocytometer Slide	Burette Stand metal heavy	Dispensing Balance	Spatula ointment	Stop watch	Tripod stand	Test tube stand (plastic)	Weight box physical	Water Bath	Suppository Mould	Pipette Dispensor	Hot air oven	Aseptic cabinet	Analytical Balance	Vaccum Pump
187	188	189	190	191	192	193	194	195	196	197	198	199	200	201	202	203	204	205	206	207	208	209	210	211	212	213	214	215	216	217	218	219

1		1	
0	2	7	0
1	7	/	,

ŧ

010
10
23
28
23
8
. 01
25
20
25
1
1
5
11
10
IO

727	Student kymograph	6	4200	37800	
		18	4200	75600	
253	Frontal Lever ink pen	16	18	288	
254	Simple lever	20	340	0089	
255	Simple lever with after load screw mf-102	8	70	999	1995
256	Organ bath	0	2150	0	
257	Operation table	2	01999	0	10
258	Student organ bath	10	1250	12500	2005
		22	1650	36300	2005
259	Oxygen tube	28	20	999	2002
260	Operation Table (Small holder)	1	1875	1875	2005
261	Photoactometer	-	13000	13000	1995
262	Cooks pole climbing App	-	15000	15000	1995
263	Roller Drum App 13 Variable speed	1	6200	6200	2004
264	Respiratory pump mechanically operated valve	1			
	metal construction		16000	16000	2004
265	Rota Road	1	10650	10650	2005
266	Starling Heart Leavers	8	65	520	2005
267	Surgical instrument set	1	213	213	1989
	Pyrogen-tale Thermometer with three probes for testing pyrogens in injectables		4380	0	36
268	Varnishing Tray	1	1800	1800	2004
269	Weighing balance (Digital) for animal	1	3200	3200	
270	Screw clips (brass) Pinch cock	33	28	924	2007
271	Hot plate with proper adjustment of temp	1	0086	0086	2006
272	Weighing machine (single pan balance	1	7375	7375	2001
273	Refrigerator	1	22700	22700	2006
274	Centrifuge	2	3400	0089	
275	Desicator	1	83	83	1985
276	Plethysmometer	2	750	1500	2007
277	Analytical balance	-	1780	1780	2007
278	Pestle & Mortor	. 2	00	0 91	200
279	Dispensing balance	-	009	009	1994

	100			
1		1		1
X	1	7	5	
1				/

2011	1994	2007	1994				1994	2001			1994	2006	2007	2002	2007	2007	1994	2006	1985	1994	1994	1994			2006	1995	1985	1995	2004	2006	1983	1004
1700	2800	17800	0009	0	2800	17926	3400	7945	187	39800	0009	0026	28000	1300	10100	1800	3080	2300	2250	1080	360	7744	-		6158	174	2250	595	12000	40000	2835	750
1700	2800	1780	0009	No Amont	2800	8963	3400	7945	187	39800	009	0026	14000	059	5050	009	440	2300	2250	180	180	1936			3079	87	2250	565	12000	40000	2835	031
1	1	10	1	1		2	1	1	1	1	10	1	2	2	2	3	7 .	1	1	9	2	4			2	2		1	1	1	1	2
Micropipette	Ampoule Clarity Test App	Balance (Analytical) Varbal	Aseptic Cabinet	Ball mill	Compound Microscope		Centrifuge	Capsule Filling machine	Capsule Counter	Compartment Dryer / Tray dryer		Dissolution rate test App.	Disintegration rate test machine	Dryer (Hair) for coating of tablets	Friability Test app.	Heating Mantle	Hardness Tester (Monsanto+Pfizer)	Hot Plate	Hot air oven	Hand homogeniser	Hand grinding machine	Mechanical stirrer(Lab stirrer)	Digital RPM-2	Non-Digital-2	Magnetic stirrer	Mixing vat(stainless steel container	Oven	Pressure cooker	Rotap Sifter	Stability Oven	Silverson Emulifiser	Toklat Countain
312	313	314	315	316	317		318	319	320 .	321	322	323	324	325	326	327	328	329	330	331		332			333	334	335	336	337	338	339	240

	3990103			IOIAL	***
	113687	113687	-	Tablet Dissolution Apparatus (6 Basket)	368
2010	36169	19700	2	Microwave Oven	367
	22160	32180		Electronic Balance	366
	43079	10298		Nephloturbidimeter	365
2006	100001	43670		Fluorimeter	364
2006	000/	DOCK	14	Refractometer	363
2007	0060	3500	, (PH Meter (Digital)	362
2002	3400	0000	-	Polarimeter	361
1994	7070	3400		Infra Red Moisture Balance	360
2007	0017	15050		Flame Photometer Burner Unit	359
2011	0001	21100	-	Flame Photometer (Digital)	358
2006	1500	1500	-	Digital Melting Point Apparatus	357
1995	05057	8420	3	Conductivity Meter	356
		11320	2	trimet	355
0				High Performance Liquid Chromatograph	524
	O Carlo good by			Fourier Transform Infra Red Spectrometer	353
1 9	C. P. TADODO	C. STABBORN S	_	U.V. Spectrophotometer	332
3	35600	35600		Bulk Density Apparatus	551
107	0001	1900	-	Magnetic Stirrer with hot plate (1000 ml)	330
0107	19001	0061		Magnetic Stirrer with hot plate (500 ml)	349
82.7	90	4800	2	Electronic balance	9.40
400 0	1.3	2 2		Double cone blender	348
*	0 2 6 0	2 2 2	-	Filtration Assembly	347
2008	10830	0.410		Energy meter	346
1986		5416	, (Vaccum Pump	345
9861	3500	2200	-	g Pan	344
1986	0,000	3500		Hand operated Tablet making machine motorized	343
	0	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		Tableting Coating Pan	342
				Tiple Beam Balance	146